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Lemma 2 The density of a triangle AABC in a Delaunay triangulation for
a saturated circle configuration C is less than or equal to w/\/12. The equality
holds only for the reqular triangle with side-length 2.

Proof: Let say that B is the largest internal angle of AABC. Then, by the
above lemma,

1 3
the area of AABC = SAB-BC-sinB > 522 \zf = V3.

b | =

Therefore, we have

/2 < T
the area of AABC — /12
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the density of AABC =

N




It is obvious from the computation that the equality holds only when AABC
is a regular triangle and side-length of AABC is 2. Q.E.D.

The density of the union of any finite Delaunay triangles in a saturated circle
configuration is a weighted average of the densities of the Delaunay triangles.
l.e.

. Y&E:Dela.unay triangle (the area of ‘&“L) X (the deHSitY of '&z)

Z;ﬁi:Delaunay triangle the area of ‘&“1

e * shown that the density of a Delaunay triangle is less than or
equal to 7/4/12, the density of the union of any finite Delaunay triangles in a
saturated circle configuration is also less than or equal to 7/4/12. Therefore, we
obtain a simple proot of Thue theorem.









